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1Q:  Can you confirm that answer provided in Question 1 for the RFP 072016 Questions and Answers is 
still correct that approximately 84.3% of GST load should be mapped to Standard Service and 32.4% of 
LPT should be mapped to Standard Service? 
 
1A:  Based on the most updated information, the following mapping represents UI’s best estimate of 
how to map GST and LPT load: For GST, about 84.5% is mapped to Standard Service eligibility for energy 
(kWh) and about 82.5% for demand (kW).  For LPT, about 32.4% is mapped to Standard Service eligibility 
for energy and about 31.6% for demand. 
 


